FRi275E RESVTHANRSE

—

R : 47 BEWER

=3 1 —RRH W%

] B ]| B |MB| & | @ HEB4A AEERARNE REETFHE | IEETEEE
4 wmER 80, 693 94, 909
4 1 REEEEE 446 1,326
4 1 3 RIEEER 446 1,326
4 1 3 1 REHER 446 1,326
4 1 3 i n =R 78 104
4 1 3 1 11 AT B E% - IR T EHBHREESR 44 28

10, 0003 (%)
ERBTFHENAE
15/ X 4508 < 1. 08=7, 290/ (¥%)
PR A%
B A 4, 500/ X 24 X 1. 08=9, 720/ (&)
NFFT (1 26) 15,480/ X 1. 08=16, T18/3 (#8)
4 1 3 i} 11 | 2T N FERREGES @ 34 44
NHER 10 X 3504 X 1. 08=3, T80 (&)
ERRES BT %
b T8 X 3508 X 1. 08=29, 4841 (%)
4 1 3 1 12 wshk 39 39
4 1 3 i 12 (G SRR MEREIRLIBER 27 27
UIF 82/ X50F=4, 100/ (&)
HEEE 310M X 15F=4, 6508 ()
BERBFHESERBMLE T Hks
52M) X 3504 =18, 2001 (&)
4 1 3 1 12 4] {REk) i tRpkt 12 12
11,425 (&%)

IR=D [ IR—-D




FR27EE RESVTEREE

A . 47 MIEAER

=S 1 —RBEH Mg -
1| E | B |#B| & | 4% HMB& REEMANE FEMFHE | AMEETHE
4 1 3 1 13 el 245 914
4 1 3 i 13 || &SRR E B ECH LSRR 157 826
24, 125/ X 2[6] =48, 250 (¥%)
LRSS, KEEIF (R F AR E st
100, 000M X 1, 08=108, 000F] (&)
4 1 3 1l 13 8l o E T ERBPHEREEZMNER (BREMD) 88 88
220/ X 40058 =288, 000/ (%)
4 1 3 1 19 BHESHIR R4 84 84
1 1 3 il 19 W|ase BN T TG R E B ANSE 84 84
84, 000 (#8)
4 2 H 80, 247 93, 583
4 2 1 HiRRER 80, 247 93, 583
4 2 1 1 HREG R 80, 145 93, 583
4 2 1 1 7 BE 1, 741 3,532
4 2 1 1 7 SRR E B4 N— BB ES 1, 741 0
830 X 7. T5BEMI X 21 H X124 A +10, 000/ X 124 H =1, 740, 99019 (%)
4 2 1 1 9 Yk d 3 0
4 2 1 1 9 110 B SR ¥ W ERFE 3 0
3,000 (&)
4 2 1 1 11 wFHE 10, 415 7,277
4 2 1 1 1 I FEE Y HR—& (BH - 3% BiE 6, 722 3, 584

200, 0003 (&%)

I IRERERESER
19, 000F X 58 X 1. 08==102, 600/ (%)

HEZHR
ARSI (45L) 4,082,400 (i)




FH275E BRHLYTHHEE

iR 47 RBHLESR

Kt 1 —gRE BEE:
F | HE | B (MEB| # |@WH MEB& FEERRRNE FEETHE | MEETHE

WX (30L) 972,000 (&)
TZAFw VEE 745, 2000 GX)
HRAI -0 35640/ (R)
TRZH (BAE) 583,200 ()

1 2 1 1 11 2L Bkt 1,065 1,065
R EREHR 135/ 60007 X 124 A =972, 000/ (#2)
BrF v 7 155M X5017 X124 A =93, 000 (&)

4 2 1 i 11 4|EIRI B AT 617 617
S L F— 3, 3008 X 120/ X 1. 08 =427, 680 (%)
TH LRI ABHES 73, 000/ X 1. 08=78, 840[ (%)
BOEBEAR 12,700 X 8] x 1. 08=109, 728/ (&%)

4 2 1 i 11 sHERER 2,011 2,011

BEFREL 4 t (2441) 1 24 5H 480,000/ (&)

F72 ¢ (152) 1 84E3H 200,000 ()

Fo721(3236) 2083 H 200,000 ()

IR—T / IR=T




FR275E REAVTHHAR

iR . 47 MIRMER

£KE 1 —REH HEER
Ml1HE]| B @B & |HE% #MB% FEERNANE AEEFTHE | SIEETHE
BIRE 1L 2 2t(1366) 2 148 H 270,000 (%)
BEFRE2t(1317) 2 1498 270,000/ (f%)
BT (4486) 1 449 H 150,000 (&)
%A% 204 X 20, 400/ X 1. 08=440, 6401 (%)
4 2 1 1 12 wHER 1, 140 1,133
4 2 1 1 12 1|15 iRk 22 20
PR EcEHRA 8210 X 100:#=8, 200" ()
BN FEEE 120 X505@=6, 000/ (&)
B FEEhE 140/ X50:@=1, 000/ (&)
4 2 1 1 12 3| FEok} 258 227

BEREERARITRSES 15,000/ X545 X 1. 08=81, 000 (§%)

EELSRE F>) 15,000 X 1.08=16, 2009 (X

EEEES GERE) 18,000 X54 X 1. 08=97, 200/ (R)

FEY A 2 AMBEEE 3,300 X 104 =33, 000/ (%)

EREERTEENRIC 1,100 X588 =5, 500/ (&)

ZRIRBF T R INAL T 5, 800/ X 4[H X 1. 08=25, 0569 (&)

IR—T ) IR—3




FR275E RESVTHHAGE

PRk - 47 MEER

&5 1 —iREE MEER
M]|E| B |@EB]| & | @H HEA FEERARE AEEFHE | MEETRE
4 2 1 i 12 4kt FREREARE BEE+HECERR 860 886
ZLA 2t (1366) 19,910/ +39, 050/ =58, 960F1 (££)
BEFFE 2t (1317) 19,9100 +38, 54003 =58, 450 (%)
EFE 4t (2441) 19,9100 +41, 0900 =61, 000/ (%)
o7 2t (152) 24,040M+34, 320/ =58, 360/ (&)
o7 2+t (3236) 24,040/ +31, 380 =55, 4208 ()
L (4486) O0M+12,24010=12, 240/ (&)
= MBRBASERBE 23, 11T X124 A X2 A =554, 808 (§%)
4 2 1 1 13 B0 54, 736 69, 459
4 2 1 1 13 2 ZH LRIV B L3k} THANERERE (KERHT) 53, 353 68, 191

B 17, 000F X 1, 700 t =28, 900, 000/ (&%)

TR 36, 000 X 150 t =5, 400, 000/ (%)

TIAF v 7 36,0000 X47 t =1,692, 000/ (§%)

BkEHE 16, 000 X9 t =144, 000/ (&%)

ER=D / IR—




FR27FEE BRELVTHAEE

R . 47 RMBKER

RE: 1| —gAH BERY :
#|lm] B |#B]| & | @6 HBA AEERRANE REFFHE | MEETRE

LR TR
KM 17, 800/ X497k 1 =8, 846, 600 (%)
MEABT 26, 000 <195k 1 =5, 070, 000/9 (&%)
U RIUR B &0k
3,300, 000/ (&)

4 2 0 13 81 ot EFeE {87 N EREEER 1,383 1,268
BHA T4 (45L) 4. 61F) X181, 800#2=838, 0985 (%)
B A% (30L)  3.0710 X 79, 2008=-243, 14419 (IR)
TR A% (30L) 3. 07H X 21, 600k =66, 312 (&)
TG AFy V2. 06 X 40, 20050=82, 41015 ()
b b— - SCEHES 2. 0501 X 12, 3008=25, 215 (&)
HAkTIv—n
10. 211 X 2, 6808 =27, 3360 (&%)
REREREEY N
100, 0003 (i%)

4 2 19 EHRE#IME R4 11, 968 12, 037

4 2 19 d&EBsE INSREES Y (CRAf) 10, 228 10, 297
4,605, 180/ (k%)
IRERLERE (RBf)
3,559, 283 (%)

ER—2 /IR—T




FH278E RUELYTEHRWE

R 47 MEmER

25 1 —BEE HESE -
X1 E ]| B |ME]| & | 4% MB& EEFERANE XEFFHE | SIERETHER
KRB RIS EYNE T B RHAES (T v 7 X)
58, 000 (#%)
ZBERXHEELEKNEECREEDHRERHSARSE
2,000 (%)
BHEY ~FooEEHs
2,003, 000/ (&)
4 2 19 5|#8h 4 BREFEIF SRR E 1, 740 1, 740
fHifs 5[0 X290, 000K g =1, 450, 000F] (&)
F£H 1 X290, 000K g =290, 000/ (&)
4 2 1 27 N 142 145
4 2 27 I Lo EHER 142 145
BiE 4t (2441) 43,2008 ()
o7 2t (152) 24,6001 (88
o7 2t (3236) 20,5001 (B
BEYKE 2t (1317) 28700 (%)
BFE 2t (1366) 24,600/ ()
4 2 BERSIEENTEE 102 0
4 2 8 WEHE 95 0
4 2 8 1B HHR AT (BB + 2@ E) 95 0
90, 000 + 5, 000/ =95, 000/ (&)
4 2 12 rER 0
4 2 12 3| Foes F T IR B F R 0

5, 800F] X 1. 08=6, 264 (E&)

IR=—T / TR—T




